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Q.No.1. The length of two ropes are 15 m, 13 cm and 12 m 42 cm
respectively. What is the total length of two ropes? o)
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Q.No.2. To stitch one shirt a tailor takes 3 hours 45 minutes and to stitch
other shirt he takes 2 hours and 21 minutes. For which shirt does he take

more time and how much? Q)
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Q.No.1. The length of two ropes are 15 m, 13 cm and 12 m 42 cm
respectively. What is the total length of two ropes? Q)]
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Q.No.2. To stitch one shirt a tailor takes 3 hours 45 minutes and to stitch
other shirt he takes 2 hours and 21 minutes. For which shirt does he take
more time and how much? Q)]
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